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EAMHULDbI BpeMeHM




Pacnmosio:kure eTMHUIbI M3MEPEHU
10 BO3PACTAHHIO:

MECHAIL HCACJIA 'O
HECHDb BCK

BCK




1 vac = 60 mMmuH

—




1 MEC.

-

24 HAC.

30 CYTOK, 3
7 CYT.
12 M

60 CEK.




EAVHULUDbI BpeMeHM
1 CYTKM = 24 yaca

1 yac = 60 MUHYT
1 MMHYTaA = 60 CeKyHA

1 yac = 3600 ceKyHA



1 rop =1 MecaUeB

1 Mecsiy = 3 WIN 31 A€HDb;

B peBpane - ,g AHeW,

B BUCOKOCHbIN roa B deBpane
- 29 AHeu;

1 rop = 365 WM 366 AHen









Bbipa3nte B cCeKyHAaax:
2 MUH. =

5 MUH. =
1 MuH. 30 cek. =
1L T—

L, =



Bbipa3ute B Yacax:

2 CYT. =

120 MUH. =
3600 cek. =
7200 cek. =



44. = ... MMH

10 . = ... MMH.

14. 40 MMH. = ... MUH.
24. 20 MMH. = ... MMH.
34. 45 MUH. = ... MUH.



1MUH. 32 ceK. =... CeK.
2 CYT. = ... M.
5 CYyT. = ... Y.
2 Hea. = ... CyT.

6 Hen. =... CyT.



